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No 5 ERER B B AHOESR IAVFR-131(%5%E) 7 L-134 ) L-137
(Ba/ke) (Ba/kg) (Bakg)
1 =poNi H23.11.18 XK= BRHEET(<11) BHEEY(<13) BRHEET(<13)
2 BT H23.11.15 = BREEY(<12) 33 52
3 =poNi H23.11.18 XK= BHEY(<9.3) BHEEY(<13) BRHEET (<)
4 BT H23.11.18 = BRHEE9(<8.1) BHEET(<13) BREET(<11)
5 SRS H23.11.16 XK= BRHEEY(<12) BHEEY(<13) BRHEET(<12)
6 = ES] H23.11.9 = BRHE9(<8.0) BHEET (<) BRHEET(<11)
7 SRS H23.11.11 XK= BREET(<1) BREET(<14) BRHEES (<)
8 = ES] H23.11.17 = BRHE9(<9.3) BHEET(<12) BRHEET(<11)
9 SRS H23.11.18 XK= BHEY(<8.8) BEET(<1) BRHEET(<12)
10 = ES] H23.11.18 = BRHEEY(<7.5) BRHEET(<13) 14
11 REH H23.11.17 XK= BREET(<1) BHEEY(<13) BRHEEY(<9.7)
12 REH H23.11.17 = BRHEEY(<84) 80 110
13 REH H23.11.17 XK= BREET(<1) BHEEY(<13) BRHEET(<13)
14 Eicpke) H23.11.18 = BREEY(<12) 43 49
15 Cipba) H23.11.18 XK= BRHEEY(<12) 37 38
16 ik H23.11.18 = BRHE9(<9.3) 86 130




AERER

No 5 ERER B B AHOESR IAVFR-131(%5%H) Iy Li-134 ) L-137
(Ba/ke) (Ba/kg) (Bakg)
17 WA= ET H23.11.17 XK= BREET(<1) BHEEY(<13) BRHEET(<12)
18 A= ET H23.11.16 = BRHEE9(<8.2) BRHEET(<14) BRHEEY(<12)
19 WA= ET H23.11.16 XK= BRHEEY(<12) BRHEEY(<12) BRHEET (<)
20 1) H23.11.17 = BRHEEY(<9.7) BHEET(<13) BRHEET(<13)
21 tHET H23.11.17 XK= BREET(<1) BRHEEY(<12) BRHEET(<13)
22 1) H23.11.18 = BRHE9(<9.6) BRHEET(<13) BRHEET(<13)
23 i) H23.11.18 XK= BRHEEY(<12) BHEEY(<13) BRHEES (<)
24 iz )11+t H23.11.18 = BRHE9(<8.9) BRHEEY(<9.8) BRHEEY(<12)
25 dllES) H23.11.18 K= BRHEE7(<89) BRHEET(<12) BrEET(<11)
26 INEFHT H23.11.17 = BRHEEY(<7.8) BRHEET(<14) BRHEEY(<9.9)
27 INEFHT H23.11.18 XK= BRHEY(<7.6) BRHEE9(<12) BRHEET (<)
28 INEFHT H23.11.18 = BRHEEY(<9.4) BRHEET(<14) BRHEET(<11)

BRAEERICETAHRENOE ERHIE
3™ L :500Bq/kg (£ Li-134, £ L-13TDEEE)

KIADF-13IDONTIE., THREIDRFENRESN TRV =S E




	穀類 \(11月22日公表\)

